2015 PRODUCTION AND CARRYOVER ESTIMATES

Prepared for California Bean Shippers Association by:
Jane Townsend, Manager
Presented by:
Mark Kirsten
Kirsten Company LLC

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT	-	Supply
Pinto	22	28.00	616	60	676
Pink	9	28.00	252	20	272
Small Red			***************************************		_
Small White					_
Navy					_
Great Northern					-
Black	22	18.00	396		396
Cranberry	365	22.66	8,270	5,832	14,102
Lt. Red Kidney	846	19.30	16,330	1,000	17,330
Dk. Red Kidney	2,967	18.88	56,024	500	56,524
Large Lima	10,571	23.43	247,640	2,000	249,640
Baby Lima	5,862	22.50	131,870	110,950	242,820
Blackeye	7,250	25.26	183,150	50,740	233,890
Garbanzo	7,595	21.49	163,195	29,150	192,345
Other	5,759	21.36	123,013	42,251	165,264
Est. CWT TOTALS	41,268		930,756	242,503	1,173,259
This report covers esti	mates from the State	of California only.			
Comments (weather, c	rop development, etc)				
*Production and carry					
No estimates are inclu	ided for beans transfe	rred from other s	tates for either clear	ning	
or redistribution.					
*Carryover includes unsl	hipped inventory but figu	ures include weight	sold.		

2015 PRODUCTION AND CARRYOVER ESTIMATES

Prepared by Idaho Bean Dealers Association

Presented by: Craig Kelley Rangen Inc

	Acreage	Yield/Acre	Production	Carryover CWT*	Total
Variety:		(clean wt)	CWT	Est as of 7/9/14	Supply
Pinto	28,000	20.50	574,000	10,000	584,000
Pink	7,000	20.00	140,000	1,000	141,000
Small Red	9,000	22.00	198,000		198,000
Small White	200	20.00	4,000	0	4,000
Navy	4,000	19.00	76,000	0	76,000
Great Northern	4,000	20.00	80,000	500	80,500
Black	3,500	19.00	66,500		66,500
Cranberry	750	17.00	12,750		12,750
Lt. Red Kidney	1,700	16.00	27,200		27,200
Dk. Red Kidney	1,700	18.00	30,600		30,600
Large Lima					
Baby Lima					0
Blackeye					
Garbanzo	65,000	10.00	650,000		650,000
Other	2,500	18.00	45,000		45,000
Est. CWT TOTALS	127,350		1,904,050	11,500	1,915,550
This report covers estim	ates from the State	of Idaho only.			
Numbers include beans	grown for seed				
Comments (weather, cro	op development, etc):			
*Carryover does not incl	lude beans grown fo	r seed			

2015 PRODUCTION ESTIMATES

Prepared by Michigan Bean Shippers Presented by: Neil Mosher Ackerman Marketing

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT		Supply
Pinto	2,000	17.00	34,000	and the second	34,000
Pink					
Small Red	20,000	17.00	340,000		340,000
Small White					
Navy	80,000	17.00	1,360,000		1,360,000
Great Northern				000000000000000000000000000000000000000	
Black	110,000	16.00	1,760,000		1,760,000
Cranberry	3,250	15.00	48,750	000000000000000000000000000000000000000	48,750
Lt. Red Kidney	7,500	17.00	127,500		127,500
Dk. Red Kidney	2,250	14.00	31,500		31,500
Large Lima				000000000000000000000000000000000000000	
Baby Lima					
Blackeye					
Garbanzo					
Other - Adzuki 1,500	5,700	15.00	86,000	-	86,000
- White Kidney 3,500				documents.	
- Other 700					
Est. CWT TOTALS	230,700	16.42	3,787,750	0	3,787,750
This report covers estimates fro	m the State of Michigan	only.			
Comments (weather, crop devel	opment, etc):				

2015 PRODUCTION

Prepared by North Central Bean Dealers Association Presented by: Dan Fuglesten Central Valley Bean Co-op

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT		Supply
Pinto	360,900	15.00	5,413,500		5,413,500
Pink	15,000	16.00	240,000		240,000
Small Red	5,000	16.00	80,000		80,000
Small White					
Navy	175,000	15.00	2,625,000		2,625,000
Great Northern	3,000	15.50	46,500		46,500
Black	155,000	14.00	2,170,000		2,170,000
Cranberry					0
Lt. Red Kidney	17,000	19.00	323,000		323,000
Dk. Red Kidney	56,000	18.00	1,008,000		1,008,000
Large Lima					
Baby Lima					
Blackeye					
Garbanzo	10,000	13.00	130,000		130,000
Other	25,000	17.00	425,000		425,000
Est. CWT TOTALS	821,900		12,461,000		12,461,000
This report covers estim	nates from the States	of Minnesota, No	rth Dakota, South D	akota and Wisconsin.	
Comments (weather, cro	op development, etc):				
Esitmates are for plante			ue to drown out. etc		
			,		
The NCBDA has a mand	atory Stocks Report	which is mandate	d by the ND PSC. T	he reports are for Sto	cks
on hand as of August 31	& December 31. Wit	h publication a m	onth after those date	es.	
Because the NCBDA will					
this report.					

2015 PRODUCTION AND CARRYOVER ESTIMATES

Prepared for Rocky Mountain Bean Dealers Association by Vickie Root Presented by: Judd Keller Kelley Bean Company

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT	Est at 9/1/2015	Supply
Pinto	185,180	21.20	3,925,776	336,588	4,262,364
Pink					
Small Red					
Small White					
Navy	2,560	23.71	60,700	12,451	73,151
Great Northern	44,490	23.15	1,029,810	654,749	1,684,559
Black	5,879	23.85	140,193	8,840	149,033
Cranberry					
Lt. Red Kidney	26,439	21.13	558,630	161,534	720,164
Dk. Red Kidney					
Large Lima					
Baby Lima					
Blackeye	14,345	15.12	216,840	3,300	220,140
Garbanzo	24,538	14.42	353,782	5,000	358,782
Other - Yellow 2539	8,605	17.20	148,040	43,316	191,356
- Other 6066					
Est. TOTALS	312,036		6,433,771	1,225,778	7,659,549
This report covers estimate	s from the States of:				
ARIZONA, COLORADO, KAI	NSAS, MONTANA, NEBR	ASKA, NEW MEX	ICO,		
SOUTH DAKOTA, TEXAS, U	TAH AND WYOMING				
Comments (weather, crop d	evelopment, etc):				
*Carryover includes unship	ned inventory but figure	es include weight o	sold		

2014 PRODUCTION AND CARRYOVER ESTIMATES

Prepared for New York by:

Hal Cole King Cole Bean Company

Tuesday, August 5, 2014

	Acreage	Yield/Acre (#'s)	Production	Carryover CWT	Total
Variety:	The second secon	(clean wt)	CWT	Est as of 9/1/14*	Supply
Pinto	annonnon money and a second mone				
Pink					
Small Red					
Small White					
Navy					
Great Northern					
Black					
Cranberry					
Lt. Red Kidney					
Dk. Red Kidney					
Large Lima					
Baby Lima					
Blackeye	Announcement of the Control of the C				
Garbanzo					
Other-Wht Kidney					no n
Est. CWT TOTALS	0		0	(
This report covers esti	mates from the Sta	te of New York only	y.		
Comments (weather, c	rop development, e	tc):			
Early spring conditions					
soybeans until the mide					
to about the 6th of July	. Plant progress is	fair to excellent an	nd we are a week or	two behind norma	
growing season.					
	deconverse				read-
*Carryover includes un	shipped inventory l	but figures include	weight sold.		-

2015 DRY BEAN STATISTICS - WASHINGTON

2015 PRODUCTION AND CARRYOVER ESTIMATES

Prepared by Washington Bean Dealers Association

Presented by: Scott Garrett Columbia Bean and Produce Co., Inc

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT	Est as of 9/1/15*	Supply
Pinto	6,984	24.42	170,578	57,300	227,878
Pink	355	25.61	9,091	10,445	19,536
Small Red	6,490	23.12	150,057	1,500	151,557
Small White	418	24.04	10,048	440	10,488
Navy	757	24.51	18,555	2,350	20,905
Great Northern	811	23.63	19,161		19,161
Black	6,123	24.38	149,277	6,500	155,777
Cranberry	1,402	23.30	32,660	11,500	44,160
Lt. Red Kidney	1,546	23.12	35,745	500	36,245
Dk. Red Kidney	2,760	24.71	68,200	1,000	69,200
Large Lima					
Baby Lima					0
Blackeye					
Garbanzo	350	18.00	6,300	10,000	16,300
Other	1,847	23.04	42,548	8,080	50,628
Est. CWT TOTALS	29,843		712,220	109,615	821,835
This report covers est	imates from the St	ate of Washingt	on only.		
*Carryover includes so	old but unshipped	inventory.			

2015 DRY BEAN STATISTICS - ALL STATES

2015 PRODUCTION CARRYOVER ESTIMATES

	Acreage	Yield/Acre	Production	Carryover CWT	Total
Variety:		(clean wt)	CWT		Supply
Pinto	583,086		10,118,470	403,948	10,522,418
Pink	22,364		389,343	11,465	400,808
Small Red	40,490		768,057	1,500	769,557
Small White	618		14,048	440	14,488
Navy	262,317		4,140,255	14,801	4,155,056
Great Northern	52,301		1,175,471	655,249	1,830,720
Black	280,524		4,286,366	15,340	4,301,706
Cranberry	5,767		102,430	17,332	119,762
Lt. Red Kidney	55,031		1,088,405	163,034	1,251,439
Dk. Red Kidney	65,677		1,194,324	1,500	1,195,824
Large Lima	10,571		247,640	2,000	249,640
Baby Lima	5,862		131,870	110,950	242,820
Blackeye	21,595		399,990	54,040	454,030
Garbanzo	107,483		1,303,277	44,150	1,347,427
Other	49,411		869,601	93,647	963,248
Est. TOTALS	1,563,097		26,229,547	1,589,396	27,818,943